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1. [bookmark: _Toc122434488][bookmark: _Toc295288959][bookmark: _Toc87275625]Corrections required for test cases 7.1.1.5.1, 7.1.1.5.2 and 7.1.1.5.4
0.1 [bookmark: _Toc87275626]Correction to f_TC_7_1_1_5_1_NR_TestBody
	Function name
	f_TC_7_1_1_5_1_NR_TestBody

	Reason for change
	In this test case the setting of CRC mode to normal is using a different activation time. This results in updating MAC/ Phy during the transmission of previous data and waiting for ACK. In order to avoid this it is proposed to use the same activation time as sending the next subsequent data (similar to 7.1.1.5.2/7.1.1.5.4 when error mode is set)

	Summary of change
	Moved the function of setting CRC to normal before sending the data at Step 11 and Step 15 and removed v_Timing2 calculation as its calculated later on for sending the data

	TTCN module
	

	MCC160 Comment
	



Before Change:
	function f_TC_7_1_1_5_1_NR_TestBody(DRB_Identity p_NR_DRB_Id,
                                   float p_WatchDog := 5.0) runs on NR_BASE_PTC
 {
    const UInt_Type tsc_DrxStartOffset := 7; // in ms
    const UInt_Type tsc_OnDurationTimer := 20; // in ms
    const UInt_Type tsc_InactivityTimer := 10;  // in  ms
    const UInt_Type tsc_DRXRetransTimer_DL := 8;// in slots
    const UInt_Type tsc_DRXRetransTimer_UL := 8;// in slots
    const UInt_Type tsc_DRX_HARQ_RTT_TimerUL := 4;// in slots 56/14
    const UInt_Type tsc_DRX_HARQ_RTT_TimerDL := 4;// in slots 56/14
    //const UInt_Type tsc_Dl_UL_TransPeriodicity :=5;
    
    var integer v_NR_SlotOffsetK1 := f_NR_GetSlotOffsetK1(nr_Cell1); //@sic R5s200711 sic@
    // As per 38.508-1 Table 4.6.3-192: TDD-UL-DL-Config TDD UL DL Periodicity is 5 slots for all SCS configs used in Signalling (15,30,120)
    
    var UInt_Type v_LongDRXCycle := 640;
    var SubFrameTiming_Type v_Timing  := valueof(cs_SubFrameTiming(0, 0, 0));
    var SubFrameTiming_Type v_Timing1 := v_Timing;
    var SubFrameTiming_Type v_Timing2 := v_Timing;
    
    var NR_UplinkBWP_Type v_NR_UplinkBWP := f_NR_CellInfo_GetUplinkBWP(nr_Cell1, tsc_NR_BWP_Id);
    var NR_ResourceAllocation_Type v_NR_ResourceAllocation := f_NR_ResourceAllocation_UplinkGrant(40, v_NR_UplinkBWP);
    
    var integer v_SlotsInSubframe := f_NR_CellInfo_GetSlotsNumberPerSubframe(nr_Cell1) ;
    //var integer v_SlotsInframe := v_SlotsInSubframe * 10;
    var NR_MAC_SDU_Type v_EncodedRlcPdu1;
    var template (value) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListDL;
    var template (present) NR_MAC_CE_SubPDU_UL_List_Type v_CE_SubPDUListUL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL;
    var template (present) NR_MAC_PDUList_Type v_MAC_PDUListUL;


    
    timer t_Watchdog := p_WatchDog;

    //@sic R5s200955 sic@

    // suppress number of DL retransmissions:
    f_NR_SS_CellConfig_DciDlInfo_NoRetransmission(nr_Cell1);
    // to configure SS to report reception of HARQ ACK or NACK
    f_NR_SS_SystemIndCtrlConfig(nr_Cell1, cds_NR_SystemIndCtrl_UL_HARQ(enable));
    
    //@siclog "Step 3" siclog@
    // Choose the next subframe when the onDurationTimer is started.
    // with start-offset chosen in the way that onDuration start on valid DL
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset);
    
    // The other things in Step 3 automatically taken care by SS
    t_Watchdog.start;
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL));
    
    
    
       
    //@siclog "Step 4" siclog@
    // Check: Does the UE transmit a HARQ ACK for  the DL MAC PDU in Step 1?
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 4");
    t_Watchdog.stop;
    
    //@siclog "Step 5" siclog@
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset);
    // Last PDCCH occasion while On Duration Timer is running.
    v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1, (tsc_OnDurationTimer *v_SlotsInSubframe) - 1);
    // - the last slot during onDurationTimer
    v_Timing1 := f_NR_LastDL_Slot(nr_Cell1,v_Timing1);

    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(1, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(1, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL));
    
    //@siclog "Step 7" siclog@
    // preconfig SS
    v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_InactivityTimer * v_SlotsInSubframe ); //@sic R5s200711 R5s200833 sic@
    v_Timing2 := f_NR_LastDL_Slot(nr_Cell1,v_Timing2);

    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_InactivityTimer * f_NR_DRX_LastDL_Slot(nr_Cell1));
    
    // The other things in Step 7 automatically taken care by SS
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(2, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(2, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing2), v_MAC_PDUListDL)); //@sic R5s201481 sic@
    t_Watchdog.start;
    
        
    //@siclog "Step 6" siclog@
    // Check: Does the UE transmit a HARQ ACK for  the DL MAC PDU in Step 5?
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 6");
    
    //@siclog "Step 8" siclog@
    // Check: Does the UE transmit a HARQ ACK for the DL MAC PDU in Step 7?
    
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 8");
    t_Watchdog.stop;
    
    //@siclog "Step 9" siclog@
    // set CRC error as error mode
    //Configure SS to corrupt CRC in transmission of DL MAC PDU
    f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Erroneous));
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset);
    v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_OnDurationTimer * v_SlotsInSubframe - 1);
    v_Timing1 := f_NR_LastDL_Slot(nr_Cell1,v_Timing1);

    //v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1, ((tsc_OnDurationTimer-10)*v_SlotsInframe) +f_NR_DRX_LastDL_Slot(nr_Cell1));
    
    // The other things in Step 9 automatically taken care by SS
    // step 9 and 11 should be on one HARQ process
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(3, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(3, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment));

    // set CRC error as normal mode
    v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_DRX_HARQ_RTT_TimerDL);
    f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Normal,cs_TimingInfo_NR(v_Timing2)));
    
    //@siclog "Step 11" siclog@
    //In the first PDCCH occasion when the Drx-RetransmissionTimerDL for the MAC PDU in Step 9 is started(i.e. after expiry of drx-HARQ-RTT-TimerDL after step 9),
    v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1,v_NR_SlotOffsetK1 +  tsc_DRX_HARQ_RTT_TimerDL - 1);
    v_Timing2 := f_NR_NextDL_Slot(nr_Cell1,v_Timing2);
        

    // With HARQ RTT = 4slots, and DL-UL Periodicity =5 slots, it should be in the first PDCCH occasion in Drx-RetransmissionTimerDL
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_Dl_UL_TransPeriodicity);
        
    // The other things in Step 11 automatically taken care by SS
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing2), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment));

    t_Watchdog.start;
    
    
    //@siclog "Step 10" siclog@
    // Check: Does the UE transmit a HARQ NACK for the DL MAC PDU in Step 7?
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, nack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 10");
    
    //@siclog "Step 12" siclog@
    // Check: Does the UE transmit a HARQ ACK for the DL MAC PDU in Step 9?
    
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 12");
    t_Watchdog.stop;


   //@siclog "Step 13" siclog@
    // set CRC error as error mode
    //Configure SS to corrupt CRC in transmission of DL MAC PDU
    f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Erroneous));
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset);
    v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1,tsc_OnDurationTimer * v_SlotsInSubframe - 1);
    v_Timing1 := f_NR_LastDL_Slot(nr_Cell1,v_Timing1);

    //v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1, ((tsc_OnDurationTimer-10)*v_SlotsInframe) +f_NR_DRX_LastDL_Slot(nr_Cell1));
    
    // The other things in Step 13 automatically taken care by SS
    // step 13 and 15 should be on one HARQ process
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(4, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(4, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment));

    // set CRC error as normal mode
    v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_DRX_HARQ_RTT_TimerDL);
    f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Normal,cs_TimingInfo_NR(v_Timing2)));
    
    //@siclog "Step 15" siclog@
    // With HARQ RTT = 4slots, tsc_DRXRetransTimer_DL =12 slots,(tsc_DRX_HARQ_RTT_TimerDL + tsc_DRXRetransTimer_DL -1=15 slots)and DL-UL Periodicity =5 slots, it should be in the first PDCCH occasion in Drx-RetransmissionTimerDL
    // In the last PDCCH occasion when the drx-RetransmissionTimerDL for MAC PDU in Step 13 is still running
    v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, v_NR_SlotOffsetK1 + tsc_DRX_HARQ_RTT_TimerDL + tsc_DRXRetransTimer_DL ); //@sic R5s200711 R5s200833 sic@
    v_Timing2 := f_NR_LastDL_Slot(nr_Cell1,v_Timing2);
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_DRX_HARQ_RTT_TimerDL + tsc_DRXRetransTimer_DL -1 );
        
    // The other things in Step 15 automatically taken care by SS
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing2), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment));

    t_Watchdog.start;
    
    
    //@siclog "Step 14" siclog@
    // Check: Does the UE transmit a HARQ NACK for the DL MAC PDU in Step 14?
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, nack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 14");
    
    //@siclog "Step 16" siclog@
    // Check: Does the UE transmit a HARQ ACK for the DL MAC PDU in Step 16?
    
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 16");
    t_Watchdog.stop;

   
    //@siclog "Step 17" siclog@
    // Config SS to report Reception of Buffer status report
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset);
    v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1,tsc_OnDurationTimer * v_SlotsInSubframe  - 1);
    v_Timing1 := f_NR_LastUL_Slot(nr_Cell1,v_Timing1);

    //v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1, ((tsc_OnDurationTimer-10)*v_SlotsInframe) +f_NR_DRX_LastUL_Slot(nr_Cell1));
    
    // UL Grant of 16 bits
    //@sic R5s200711 sic@
    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_NR(v_Timing1), v_NR_ResourceAllocation,-,cs_NR_UplinkTimeAlignment_Stop); // Imcs Lrb 40 bits
    
    
    //@siclog "Step 19" siclog@
    // (tsc_NR_SlotOffsetK2 = )4 slots + (drx-HARQ-RTT-TimerUL ) 4 slots + (drx-RetransmissionTimerUL ) 12 slots =20 slots, a multiple of 5 slots
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, 20);
    v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_NR_SlotOffsetK2 + tsc_DRX_HARQ_RTT_TimerUL + tsc_DRXRetransTimer_UL ); //@sic R5s200711 R5s200833 sic@
    v_Timing2 := f_NR_LastDL_Slot(nr_Cell1,v_Timing2);

    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(5, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(5, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing2), v_MAC_PDUListDL));

   
    t_Watchdog.start;
    
    //@siclog "Step 18" siclog@
    // Check: Does the UE transmit a Buffer Status Report on the UL indicating an empty buffer?
    // Get the time when UE sent BSR
    // Note the function not suitable for finding the UL Data timing with respect to Grant, but still result in same value
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_NR_SlotOffsetK2);
    v_CE_SubPDUListUL := { cr_NR_MAC_CE_SubPDU_UL(cr_NR_MAC_LongBSR_SubHeader, cr_LongBSR_Payload('00000000'B, {})) };
    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(omit, v_CE_SubPDUListUL, cr_NR_MAC_Padding_SubPDU('?'O)) };   // 1byte Padding header and 1 byte padding payload
    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL));
   
    //@siclog "Step 20" siclog@
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 20");
    t_Watchdog.stop;
  } ;



After Change:
	  function f_TC_7_1_1_5_1_NR_TestBody(DRB_Identity p_NR_DRB_Id,
                                   float p_WatchDog := 5.0) runs on NR_BASE_PTC
 {
    const UInt_Type tsc_DrxStartOffset := 7; // in ms
    const UInt_Type tsc_OnDurationTimer := 20; // in ms
    const UInt_Type tsc_InactivityTimer := 10;  // in  ms
    const UInt_Type tsc_DRXRetransTimer_DL := 8;// in slots
    const UInt_Type tsc_DRXRetransTimer_UL := 8;// in slots
    const UInt_Type tsc_DRX_HARQ_RTT_TimerUL := 4;// in slots 56/14
    const UInt_Type tsc_DRX_HARQ_RTT_TimerDL := 4;// in slots 56/14
    //const UInt_Type tsc_Dl_UL_TransPeriodicity :=5;
    
    var integer v_NR_SlotOffsetK1 := f_NR_GetSlotOffsetK1(nr_Cell1); //@sic R5s200711 sic@
    // As per 38.508-1 Table 4.6.3-192: TDD-UL-DL-Config TDD UL DL Periodicity is 5 slots for all SCS configs used in Signalling (15,30,120)
    
    var UInt_Type v_LongDRXCycle := 640;
    var SubFrameTiming_Type v_Timing  := valueof(cs_SubFrameTiming(0, 0, 0));
    var SubFrameTiming_Type v_Timing1 := v_Timing;
    var SubFrameTiming_Type v_Timing2 := v_Timing;
    
    var NR_UplinkBWP_Type v_NR_UplinkBWP := f_NR_CellInfo_GetUplinkBWP(nr_Cell1, tsc_NR_BWP_Id);
    var NR_ResourceAllocation_Type v_NR_ResourceAllocation := f_NR_ResourceAllocation_UplinkGrant(40, v_NR_UplinkBWP);
    
    var integer v_SlotsInSubframe := f_NR_CellInfo_GetSlotsNumberPerSubframe(nr_Cell1) ;
    //var integer v_SlotsInframe := v_SlotsInSubframe * 10;
    var NR_MAC_SDU_Type v_EncodedRlcPdu1;
    var template (value) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListDL;
    var template (present) NR_MAC_CE_SubPDU_UL_List_Type v_CE_SubPDUListUL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL;
    var template (present) NR_MAC_PDUList_Type v_MAC_PDUListUL;


    
    timer t_Watchdog := p_WatchDog;

    //@sic R5s200955 sic@

    // suppress number of DL retransmissions:
    f_NR_SS_CellConfig_DciDlInfo_NoRetransmission(nr_Cell1);
    // to configure SS to report reception of HARQ ACK or NACK
    f_NR_SS_SystemIndCtrlConfig(nr_Cell1, cds_NR_SystemIndCtrl_UL_HARQ(enable));
    
    //@siclog "Step 3" siclog@
    // Choose the next subframe when the onDurationTimer is started.
    // with start-offset chosen in the way that onDuration start on valid DL
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset);
    
    // The other things in Step 3 automatically taken care by SS
    t_Watchdog.start;
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL));
    
    
    
       
    //@siclog "Step 4" siclog@
    // Check: Does the UE transmit a HARQ ACK for  the DL MAC PDU in Step 1?
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 4");
    t_Watchdog.stop;
    
    //@siclog "Step 5" siclog@
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset);
    // Last PDCCH occasion while On Duration Timer is running.
    v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1, (tsc_OnDurationTimer *v_SlotsInSubframe) - 1);
    // - the last slot during onDurationTimer
    v_Timing1 := f_NR_LastDL_Slot(nr_Cell1,v_Timing1);

    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(1, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(1, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL));
    
    //@siclog "Step 7" siclog@
    // preconfig SS
    v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_InactivityTimer * v_SlotsInSubframe ); //@sic R5s200711 R5s200833 sic@
    v_Timing2 := f_NR_LastDL_Slot(nr_Cell1,v_Timing2);

    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_InactivityTimer * f_NR_DRX_LastDL_Slot(nr_Cell1));
    
    // The other things in Step 7 automatically taken care by SS
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(2, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(2, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing2), v_MAC_PDUListDL)); //@sic R5s201481 sic@
    t_Watchdog.start;
    
        
    //@siclog "Step 6" siclog@
    // Check: Does the UE transmit a HARQ ACK for  the DL MAC PDU in Step 5?
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 6");
    
    //@siclog "Step 8" siclog@
    // Check: Does the UE transmit a HARQ ACK for the DL MAC PDU in Step 7?
    
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 8");
    t_Watchdog.stop;
    
    //@siclog "Step 9" siclog@
    // set CRC error as error mode
    //Configure SS to corrupt CRC in transmission of DL MAC PDU
    f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Erroneous));
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset);
    v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_OnDurationTimer * v_SlotsInSubframe - 1);
    v_Timing1 := f_NR_LastDL_Slot(nr_Cell1,v_Timing1);

    //v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1, ((tsc_OnDurationTimer-10)*v_SlotsInframe) +f_NR_DRX_LastDL_Slot(nr_Cell1));
    
    // The other things in Step 9 automatically taken care by SS
    // step 9 and 11 should be on one HARQ process
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(3, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(3, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment));

    
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_DRX_HARQ_RTT_TimerDL);
    // moved code from here
    
    //@siclog "Step 11" siclog@
    //In the first PDCCH occasion when the Drx-RetransmissionTimerDL for the MAC PDU in Step 9 is started(i.e. after expiry of drx-HARQ-RTT-TimerDL after step 9),
    v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1,v_NR_SlotOffsetK1 +  tsc_DRX_HARQ_RTT_TimerDL - 1);
    v_Timing2 := f_NR_NextDL_Slot(nr_Cell1,v_Timing2);
        

    // With HARQ RTT = 4slots, and DL-UL Periodicity =5 slots, it should be in the first PDCCH occasion in Drx-RetransmissionTimerDL
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_Dl_UL_TransPeriodicity);
    // set CRC error as normal mode
    f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Normal,cs_TimingInfo_NR(v_Timing2)));
    // The other things in Step 11 automatically taken care by SS
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing2), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment));

    t_Watchdog.start;
    
    
    //@siclog "Step 10" siclog@
    // Check: Does the UE transmit a HARQ NACK for the DL MAC PDU in Step 7?
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, nack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 10");
    
    //@siclog "Step 12" siclog@
    // Check: Does the UE transmit a HARQ ACK for the DL MAC PDU in Step 9?
    
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 12");
    t_Watchdog.stop;


   //@siclog "Step 13" siclog@
    // set CRC error as error mode
    //Configure SS to corrupt CRC in transmission of DL MAC PDU
    f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Erroneous));
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset);
    v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1,tsc_OnDurationTimer * v_SlotsInSubframe - 1);
    v_Timing1 := f_NR_LastDL_Slot(nr_Cell1,v_Timing1);

    //v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1, ((tsc_OnDurationTimer-10)*v_SlotsInframe) +f_NR_DRX_LastDL_Slot(nr_Cell1));
    
    // The other things in Step 13 automatically taken care by SS
    // step 13 and 15 should be on one HARQ process
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(4, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(4, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment));

    
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_DRX_HARQ_RTT_TimerDL);
    //moved code from here
    
    //@siclog "Step 15" siclog@
    // With HARQ RTT = 4slots, tsc_DRXRetransTimer_DL =12 slots,(tsc_DRX_HARQ_RTT_TimerDL + tsc_DRXRetransTimer_DL -1=15 slots)and DL-UL Periodicity =5 slots, it should be in the first PDCCH occasion in Drx-RetransmissionTimerDL
    // In the last PDCCH occasion when the drx-RetransmissionTimerDL for MAC PDU in Step 13 is still running
    v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, v_NR_SlotOffsetK1 + tsc_DRX_HARQ_RTT_TimerDL + tsc_DRXRetransTimer_DL ); //@sic R5s200711 R5s200833 sic@
    v_Timing2 := f_NR_LastDL_Slot(nr_Cell1,v_Timing2);
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_DRX_HARQ_RTT_TimerDL + tsc_DRXRetransTimer_DL -1 );
    // set CRC error as normal mode
   f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Normal,cs_TimingInfo_NR(v_Timing2)));
        
    // The other things in Step 15 automatically taken care by SS
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing2), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment));

    t_Watchdog.start;
    
    
    //@siclog "Step 14" siclog@
    // Check: Does the UE transmit a HARQ NACK for the DL MAC PDU in Step 14?
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, nack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 14");
    
    //@siclog "Step 16" siclog@
    // Check: Does the UE transmit a HARQ ACK for the DL MAC PDU in Step 16?
    
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 16");
    t_Watchdog.stop;

   
    //@siclog "Step 17" siclog@
    // Config SS to report Reception of Buffer status report
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset);
    v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1,tsc_OnDurationTimer * v_SlotsInSubframe  - 1);
    v_Timing1 := f_NR_LastUL_Slot(nr_Cell1,v_Timing1);

    //v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1, ((tsc_OnDurationTimer-10)*v_SlotsInframe) +f_NR_DRX_LastUL_Slot(nr_Cell1));
    
    // UL Grant of 16 bits
    //@sic R5s200711 sic@
    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_NR(v_Timing1), v_NR_ResourceAllocation,-,cs_NR_UplinkTimeAlignment_Stop); // Imcs Lrb 40 bits
    
    
    //@siclog "Step 19" siclog@
    // (tsc_NR_SlotOffsetK2 = )4 slots + (drx-HARQ-RTT-TimerUL ) 4 slots + (drx-RetransmissionTimerUL ) 12 slots =20 slots, a multiple of 5 slots
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, 20);
    v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_NR_SlotOffsetK2 + tsc_DRX_HARQ_RTT_TimerUL + tsc_DRXRetransTimer_UL ); //@sic R5s200711 R5s200833 sic@
    v_Timing2 := f_NR_LastDL_Slot(nr_Cell1,v_Timing2);

    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(5, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(5, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing2), v_MAC_PDUListDL));

   
    t_Watchdog.start;
    
    //@siclog "Step 18" siclog@
    // Check: Does the UE transmit a Buffer Status Report on the UL indicating an empty buffer?
    // Get the time when UE sent BSR
    // Note the function not suitable for finding the UL Data timing with respect to Grant, but still result in same value
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_NR_SlotOffsetK2);
    v_CE_SubPDUListUL := { cr_NR_MAC_CE_SubPDU_UL(cr_NR_MAC_LongBSR_SubHeader, cr_LongBSR_Payload('00000000'B, {})) };
    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(omit, v_CE_SubPDUListUL, cr_NR_MAC_Padding_SubPDU('?'O)) };   // 1byte Padding header and 1 byte padding payload
    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL));
   
    //@siclog "Step 20" siclog@
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 20");
    t_Watchdog.stop;
  } ;



0.2 [bookmark: _Toc87275627]Correction to f_TC_7_1_1_5_2_NR_TestBody
	Function name
	f_TC_7_1_1_5_2_NR_TestBody

	Reason for change
	· The function f_NR_SS_CellConfig_DciDlInfo_NoRetransmission before Step 6A is redundant as it is already configured at the start of the test case to do no retranmsssion

· Since there is no retransmissions configured and therefore the CRC mode should be “Erroneous” as “Error1AndNormal” can only be used when retransmission is configured (Similar to 7.1.1.5.1).

	Summary of change
	· Removed f_NR_SS_CellConfig_DciDlInfo_NoRetransmission before Step 6A
· Modified the function to use Erroneous when setting CRC mode and then back to normal mode for the other DRB data transmission 


	TTCN module
	

	MCC160 Comment
	



Before Change:
	function f_TC_7_1_1_5_2_NR_TestBody(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  { /* L2/MAC
     * 7.1.1.5.2 : DRX operation / Short cycle not configured / Long DRX command MAC control element reception
     */
    const UInt_Type tsc_DrxStartOffset := 7; // in ms @sic R5-202609 sic@
    const UInt_Type tsc_HarqProcessId :=0; //Arbitrarily selected
    const UInt_Type tsc_DRXRetransTimer_DL := 80;// in slots
    const UInt_Type tsc_DRX_HARQ_RTT_TimerDL := 4;// in slots 56/14

    //@sic R5s200859 sic@
    var integer v_LongDRXCycle :=  640;
    var SubFrameTiming_Type v_Timing  := valueof(cs_SubFrameTiming(0, 0, 0));
    var SubFrameTiming_Type v_Timing1 := v_Timing;
    var SubFrameTiming_Type v_Timing3 := v_Timing;
    var integer v_SlotsInSubframe := f_NR_CellInfo_GetSlotsNumberPerSubframe(nr_Cell1);
    var integer v_SlotsInframe := v_SlotsInSubframe * 10;
    var NR_MAC_SDU_Type v_EncodedRlcPdu1;
    var template (value) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListDL;
    //var template (present) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListUL;
    var template (omit) NR_MAC_CE_SubPDU_DL_List_Type v_CE_SubPDUListDL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL2;
    var integer v_NR_K1:= 5;
    timer t_T7115 := 0.1;
    timer t_Watchdog := 5.0;
    
    //@sic R5s200899 sic@
    v_NR_K1 := f_NR_GetSlotOffsetK1(nr_Cell1); // Gets the slot offset K1 acc. to 38.211 Table 4.3.2-1

    // stop periodic UL grants and restart automatic grant allocation instead; periodic TA is kept stopped:
    f_NR_ULGrantConfiguration_Start(nr_Cell1,-, -, -, cs_NR_UplinkTimeAlignment_Stop);
   
    // suppress number of DL retransmissions:
    f_NR_SS_CellConfig_DciDlInfo_NoRetransmission(nr_Cell1);
    // to configure SS to report reception of HARQ ACK or NACK
    f_NR_SS_SystemIndCtrlConfig(nr_Cell1, cds_NR_SystemIndCtrl_UL_HARQ(enable));
    
    //@siclog "Step 3" siclog@
    //f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Error1AndNormal)); //@sic R5s200859 R5-204420 sic@
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset);
    // X= selected the last DL slot in Frame 1, as on duration timer =20 ms
     
    // The other things in Step 3 automatically taken care by SS
    // step 3 and 7 should be on one HARQ process
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId)));

    //@siclog "Step 5" siclog@
    //@sic R5s200859 sic@
    //@sic R5s200899 sic@
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing1, v_SlotsInframe);
    v_CE_SubPDUListDL := { cs_NR_MAC_CE_SubPDU_DL( cs_NR_MAC_LongDRXCommandSubHeader ) };  //
    v_MAC_PDUListDL2 := { cs_NR_DL_MAC_PDU(v_CE_SubPDUListDL, omit,  cs_NR_MAC_Padding_SubPDU('000000'O)) };   // 2 byte sub headers +3byte Padding header= 40 bits
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL2, cs_NR_HarqProcessAssignment(tsc_HarqProcessId+1)));
    // K = 7
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing,6);
    f_NR_SS_CellConfig_DciDlInfo_NoRetransmission(nr_Cell1,cs_TimingInfo_NR(v_Timing)); //@sic R5s201493 sic@

    //@sic R5s200899 sic@
    //@siclog "Step 6A" siclog@
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing1, 2*v_SlotsInframe);
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId+1)));


    //@siclog "Step 7" siclog@
    //@sic R5s201436 sic@
    v_Timing3 := f_NR_SubFrameTiming_AddSlots(v_Timing1, v_LongDRXCycle * v_SlotsInSubframe);
    f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Error1AndNormal,cs_TimingInfo_NR(v_Timing3)));
    // With HARQ RTT = 4slots, and DL-UL Periodicity =5 slots, it should be in the first PDCCH occasion in Drx-RetransmissionTimerDL
     DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing3), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId)));
     
    //@sic R5s200899 sic@
    //@siclog "Step 8A" siclog@
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing3, v_NR_K1 + tsc_DRX_HARQ_RTT_TimerDL-1);
    v_Timing := f_NR_LastDL_Slot(nr_Cell1,v_Timing); //@sic R5s201104 sic@
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL2,cs_NR_HarqProcessAssignment(tsc_HarqProcessId+1)));



    //@siclog "Step 9" siclog@



After Change:
	function f_TC_7_1_1_5_2_NR_TestBody(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  { /* L2/MAC
     * 7.1.1.5.2 : DRX operation / Short cycle not configured / Long DRX command MAC control element reception
     */
    const UInt_Type tsc_DrxStartOffset := 7; // in ms @sic R5-202609 sic@
    const UInt_Type tsc_HarqProcessId :=0; //Arbitrarily selected
    const UInt_Type tsc_DRXRetransTimer_DL := 80;// in slots
    const UInt_Type tsc_DRX_HARQ_RTT_TimerDL := 4;// in slots 56/14

    //@sic R5s200859 sic@
    var integer v_LongDRXCycle :=  640;
    var SubFrameTiming_Type v_Timing  := valueof(cs_SubFrameTiming(0, 0, 0));
    var SubFrameTiming_Type v_Timing1 := v_Timing;
    var SubFrameTiming_Type v_Timing3 := v_Timing;
    var integer v_SlotsInSubframe := f_NR_CellInfo_GetSlotsNumberPerSubframe(nr_Cell1);
    var integer v_SlotsInframe := v_SlotsInSubframe * 10;
    var NR_MAC_SDU_Type v_EncodedRlcPdu1;
    var template (value) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListDL;
    //var template (present) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListUL;
    var template (omit) NR_MAC_CE_SubPDU_DL_List_Type v_CE_SubPDUListDL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL2;
    var integer v_NR_K1:= 5;
    timer t_T7115 := 0.1;
    timer t_Watchdog := 5.0;
    
    //@sic R5s200899 sic@
    v_NR_K1 := f_NR_GetSlotOffsetK1(nr_Cell1); // Gets the slot offset K1 acc. to 38.211 Table 4.3.2-1

    // stop periodic UL grants and restart automatic grant allocation instead; periodic TA is kept stopped:
    f_NR_ULGrantConfiguration_Start(nr_Cell1,-, -, -, cs_NR_UplinkTimeAlignment_Stop);
   
    // suppress number of DL retransmissions:
    f_NR_SS_CellConfig_DciDlInfo_NoRetransmission(nr_Cell1);
    // to configure SS to report reception of HARQ ACK or NACK
    f_NR_SS_SystemIndCtrlConfig(nr_Cell1, cds_NR_SystemIndCtrl_UL_HARQ(enable));
    
    //@siclog "Step 3" siclog@
    //f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Error1AndNormal)); //@sic R5s200859 R5-204420 sic@
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset);
    // X= selected the last DL slot in Frame 1, as on duration timer =20 ms
     
    // The other things in Step 3 automatically taken care by SS
    // step 3 and 7 should be on one HARQ process
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId)));

    //@siclog "Step 5" siclog@
    //@sic R5s200859 sic@
    //@sic R5s200899 sic@
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing1, v_SlotsInframe);
    v_CE_SubPDUListDL := { cs_NR_MAC_CE_SubPDU_DL( cs_NR_MAC_LongDRXCommandSubHeader ) };  //
    v_MAC_PDUListDL2 := { cs_NR_DL_MAC_PDU(v_CE_SubPDUListDL, omit,  cs_NR_MAC_Padding_SubPDU('000000'O)) };   // 2 byte sub headers +3byte Padding header= 40 bits
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL2, cs_NR_HarqProcessAssignment(tsc_HarqProcessId+1)));
    // K = 7
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing,6);
    //redundant as NoRetransmission is already configured at the start
   // f_NR_SS_CellConfig_DciDlInfo_NoRetransmission(nr_Cell1,cs_TimingInfo_NR(v_Timing)); //@sic R5s201493 sic@

    //@sic R5s200899 sic@
    //@siclog "Step 6A" siclog@
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing1, 2*v_SlotsInframe);
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId+1)));


    //@siclog "Step 7" siclog@
    //@sic R5s201436 sic@
    v_Timing3 := f_NR_SubFrameTiming_AddSlots(v_Timing1, v_LongDRXCycle * v_SlotsInSubframe);
    // error mode
    f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Erroneous,cs_TimingInfo_NR(v_Timing3)));
    // With HARQ RTT = 4slots, and DL-UL Periodicity =5 slots, it should be in the first PDCCH occasion in Drx-RetransmissionTimerDL
     DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing3), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId)));
     
    //@sic R5s200899 sic@
    //@siclog "Step 8A" siclog@
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing3, v_NR_K1 + tsc_DRX_HARQ_RTT_TimerDL-1);
    v_Timing := f_NR_LastDL_Slot(nr_Cell1,v_Timing); //@sic R5s201104 sic@
    // normal mode
    f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Normal,cs_TimingInfo_NR(v_Timing)));
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL2,cs_NR_HarqProcessAssignment(tsc_HarqProcessId+1)));



    //@siclog "Step 9" siclog@



0.3 [bookmark: _Toc87275628]Correction to f_TC_7_1_1_5_4_NR_TestBody
	Function name
	f_TC_7_1_1_5_4_NR_TestBody

	Reason for change
	· The function f_NR_SS_CellConfig_DciDlInfo_NoRetransmission before Step 6A is redundant as it is already configured at the start of the test case to do no retranmsssion

· Since there is no retransmissions configured and therefore the CRC mode should be “Erroneous” as “Error1AndNormal” can only be used when retransmission is configured (Similar to 7.1.1.5.1).

	Summary of change
	· Removed f_NR_SS_CellConfig_DciDlInfo_NoRetransmission before Step 6A
· Modified the function to use Erroneous when setting CRC mode and then back to normal mode for the other DRB data transmission 


	TTCN module
	

	MCC160 Comment
	



Before Change:
	function f_TC_7_1_1_5_4_NR_TestBody(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  { /* L2/MAC
     * 7.1.1.5.4 : DRX Operation / Short cycle configured / DRX command MAC control element reception
     */
    const UInt_Type tsc_DrxStartOffset := 7; // in ms @sic R5-202609 sic@

    const UInt_Type tsc_HarqProcessId :=0; //Arbitrarily selected
    // As per 38.508-1 Table 4.6.3-192: TDD-UL-DL-Config TDD UL DL Periodicity is 5 slots for all SCS configs used in Signalling (15,30,120)
    const UInt_Type tsc_DRXRetransTimer_DL := 80;// in slots
    const UInt_Type tsc_DRX_HARQ_RTT_TimerDL := 4;// in slots 56/14

    var UInt_Type v_ShortDRXCycle :=  80; //@sic R5s200867 sic@
    var SubFrameTiming_Type v_Timing  := valueof(cs_SubFrameTiming(0, 0, 0));
    var SubFrameTiming_Type v_Timing1 := v_Timing;
    //var SubFrameTiming_Type v_Timing2 := v_Timing;
    var SubFrameTiming_Type v_Timing3 := v_Timing;
    var integer v_SlotsInSubframe := f_NR_CellInfo_GetSlotsNumberPerSubframe(nr_Cell1);
    var integer v_SlotsInframe := v_SlotsInSubframe * 10;
    var NR_MAC_SDU_Type v_EncodedRlcPdu1;
    var template (value) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListDL;
    var template (omit) NR_MAC_CE_SubPDU_DL_List_Type v_CE_SubPDUListDL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL2;

    var integer v_NR_K1:= 5;
    timer t_T7115 := 0.05;
    timer t_Watchdog := 5.0;

    v_NR_K1 := f_NR_GetSlotOffsetK1(nr_Cell1); // Gets the slot offset K1 acc. to 38.211 Table 4.3.2-1

    // stop periodic UL grants and restart automatic grant allocation instead; periodic TA is kept stopped:
    f_NR_ULGrantConfiguration_Start(nr_Cell1,-, -, -, cs_NR_UplinkTimeAlignment_Stop);
   
    // suppress number of DL retransmissions:
    f_NR_SS_CellConfig_DciDlInfo_NoRetransmission(nr_Cell1);
    // to configure SS to report reception of HARQ ACK or NACK
    f_NR_SS_SystemIndCtrlConfig(nr_Cell1, cds_NR_SystemIndCtrl_UL_HARQ(enable));
    
    //@siclog "Step 3" siclog@
    //@sic R5s201437 R5-206123 sic@
    //f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Error1AndNormal)); //@sic R5s200867 sic@
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    //@sic R5s200867 sic@
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_ShortDRXCycle, tsc_DrxStartOffset);
    //@sic R5s201437 sic@
    //v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1, v_ShortDRXCycle * v_SlotsInSubframe * 2);
    // X= selected the last DL slot, InactivityTimer< X< on-DurationTimer -1
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, v_SlotsInframe + 9);

    // X= selected the last DL slot in Frame 1, as on duration timer =20 ms
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, f_NR_DRX_LastDL_Slot(nr_Cell1));
    // The other things in Step 3 automatically taken care by SS
    // step 3 and 7 should be on one HARQ process
    //@sic R5s201437 sic@
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId)));

    //@siclog "Step 5" siclog@
    // 5 ms later configuere SS for normal CRC error mode
    //v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing2, 5);
    //f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Normal,cs_TimingInfo_NR(v_Timing)));
    // In the Last PDCCH occasion befor on duration timer expiry
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing1, v_SlotsInframe); //@sic R5s200926 sic@
    //v_Timing3 := f_NR_SubFrameTiming_AddSlots(v_Timing2,v_SlotsInframe);
    v_CE_SubPDUListDL := { cs_NR_MAC_CE_SubPDU_DL( cs_NR_MAC_DRXCommandSubHeader ) };  //
    v_MAC_PDUListDL2 := { cs_NR_DL_MAC_PDU(v_CE_SubPDUListDL, omit,  cs_NR_MAC_Padding_SubPDU('000000'O)) };   // 2 byte sub headers +3byte Padding header= 40 bits
    //@sic r5s201517 sic@
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL2, cs_NR_HarqProcessAssignment(tsc_HarqProcessId+1)));
    
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing,7);
    f_NR_SS_CellConfig_DciDlInfo_NoRetransmission(nr_Cell1,cs_TimingInfo_NR(v_Timing));

    //@siclog "Step 6A" siclog@
    //@sic R5s200926 sic@
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing1, 2*v_SlotsInframe);
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId+1)));

    //@siclog "Step 7" siclog@
    //@sic R5s201437 sic@
    v_Timing3 := f_NR_SubFrameTiming_AddSlots(v_Timing1, 3 * v_ShortDRXCycle * v_SlotsInSubframe);
    //v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing2, v_SlotsInframe+5);
    f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Error1AndNormal,cs_TimingInfo_NR(v_Timing3)));
    // With HARQ RTT = 4slots, and DL-UL Periodicity =5 slots, it should be in the first PDCCH occasion in Drx-RetransmissionTimerDL
    //v_Timing3 := f_NR_SubFrameTiming_AddSlots(v_Timing, v_SlotsInframe);
   //v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing2, 2*v_SlotsInframe);
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing3), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId)));

    //@siclog "Step 8A" siclog@
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing3, v_NR_K1 + tsc_DRX_HARQ_RTT_TimerDL-1);
    v_Timing := f_NR_LastDL_Slot(nr_Cell1,v_Timing); //@sic R5s201105 sic@
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL2, cs_NR_HarqProcessAssignment(tsc_HarqProcessId+1)));

   //@siclog "Step 9" siclog@



After Change:
	function f_TC_7_1_1_5_4_NR_TestBody(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  { /* L2/MAC
     * 7.1.1.5.4 : DRX Operation / Short cycle configured / DRX command MAC control element reception
     */
    const UInt_Type tsc_DrxStartOffset := 7; // in ms @sic R5-202609 sic@

    const UInt_Type tsc_HarqProcessId :=0; //Arbitrarily selected
    // As per 38.508-1 Table 4.6.3-192: TDD-UL-DL-Config TDD UL DL Periodicity is 5 slots for all SCS configs used in Signalling (15,30,120)
    const UInt_Type tsc_DRXRetransTimer_DL := 80;// in slots
    const UInt_Type tsc_DRX_HARQ_RTT_TimerDL := 4;// in slots 56/14

    var UInt_Type v_ShortDRXCycle :=  80; //@sic R5s200867 sic@
    var SubFrameTiming_Type v_Timing  := valueof(cs_SubFrameTiming(0, 0, 0));
    var SubFrameTiming_Type v_Timing1 := v_Timing;
    //var SubFrameTiming_Type v_Timing2 := v_Timing;
    var SubFrameTiming_Type v_Timing3 := v_Timing;
    var integer v_SlotsInSubframe := f_NR_CellInfo_GetSlotsNumberPerSubframe(nr_Cell1);
    var integer v_SlotsInframe := v_SlotsInSubframe * 10;
    var NR_MAC_SDU_Type v_EncodedRlcPdu1;
    var template (value) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListDL;
    var template (omit) NR_MAC_CE_SubPDU_DL_List_Type v_CE_SubPDUListDL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL2;

    var integer v_NR_K1:= 5;
    timer t_T7115 := 0.05;
    timer t_Watchdog := 5.0;

    v_NR_K1 := f_NR_GetSlotOffsetK1(nr_Cell1); // Gets the slot offset K1 acc. to 38.211 Table 4.3.2-1

    // stop periodic UL grants and restart automatic grant allocation instead; periodic TA is kept stopped:
    f_NR_ULGrantConfiguration_Start(nr_Cell1,-, -, -, cs_NR_UplinkTimeAlignment_Stop);
   
    // suppress number of DL retransmissions:
    f_NR_SS_CellConfig_DciDlInfo_NoRetransmission(nr_Cell1);
    // to configure SS to report reception of HARQ ACK or NACK
    f_NR_SS_SystemIndCtrlConfig(nr_Cell1, cds_NR_SystemIndCtrl_UL_HARQ(enable));
    
    //@siclog "Step 3" siclog@
    //@sic R5s201437 R5-206123 sic@
    //f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Error1AndNormal)); //@sic R5s200867 sic@
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    //@sic R5s200867 sic@
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_ShortDRXCycle, tsc_DrxStartOffset);
    //@sic R5s201437 sic@
    //v_Timing1 := f_NR_SubFrameTiming_AddSlots(v_Timing1, v_ShortDRXCycle * v_SlotsInSubframe * 2);
    // X= selected the last DL slot, InactivityTimer< X< on-DurationTimer -1
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, v_SlotsInframe + 9);

    // X= selected the last DL slot in Frame 1, as on duration timer =20 ms
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, f_NR_DRX_LastDL_Slot(nr_Cell1));
    // The other things in Step 3 automatically taken care by SS
    // step 3 and 7 should be on one HARQ process
    //@sic R5s201437 sic@
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId)));

    //@siclog "Step 5" siclog@
    // 5 ms later configuere SS for normal CRC error mode
    //v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing2, 5);
    //f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Normal,cs_TimingInfo_NR(v_Timing)));
    // In the Last PDCCH occasion befor on duration timer expiry
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing1, v_SlotsInframe); //@sic R5s200926 sic@
    //v_Timing3 := f_NR_SubFrameTiming_AddSlots(v_Timing2,v_SlotsInframe);
    v_CE_SubPDUListDL := { cs_NR_MAC_CE_SubPDU_DL( cs_NR_MAC_DRXCommandSubHeader ) };  //
    v_MAC_PDUListDL2 := { cs_NR_DL_MAC_PDU(v_CE_SubPDUListDL, omit,  cs_NR_MAC_Padding_SubPDU('000000'O)) };   // 2 byte sub headers +3byte Padding header= 40 bits
    //@sic r5s201517 sic@
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL2, cs_NR_HarqProcessAssignment(tsc_HarqProcessId+1)));
    
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing,7);
    // redundant as NoRetransmission is already configured
    //f_NR_SS_CellConfig_DciDlInfo_NoRetransmission(nr_Cell1,cs_TimingInfo_NR(v_Timing));

    //@siclog "Step 6A" siclog@
    //@sic R5s200926 sic@
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing1, 2*v_SlotsInframe);
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId+1)));

    //@siclog "Step 7" siclog@
    //@sic R5s201437 sic@
    v_Timing3 := f_NR_SubFrameTiming_AddSlots(v_Timing1, 3 * v_ShortDRXCycle * v_SlotsInSubframe);
    //v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing2, v_SlotsInframe+5);
    f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Erroneous,cs_TimingInfo_NR(v_Timing3)));
    // With HARQ RTT = 4slots, and DL-UL Periodicity =5 slots, it should be in the first PDCCH occasion in Drx-RetransmissionTimerDL
    //v_Timing3 := f_NR_SubFrameTiming_AddSlots(v_Timing, v_SlotsInframe);
   //v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing2, 2*v_SlotsInframe);
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing3), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId)));

    //@siclog "Step 8A" siclog@
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing3, v_NR_K1 + tsc_DRX_HARQ_RTT_TimerDL-1);
    v_Timing := f_NR_LastDL_Slot(nr_Cell1,v_Timing); //@sic R5s201105 sic@
    //to put back to normal mode.
    f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Normal,cs_TimingInfo_NR(v_Timing)));
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL2, cs_NR_HarqProcessAssignment(tsc_HarqProcessId+1)));

   //@siclog "Step 9" siclog@




